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Run 4368 triggerwise, sums: All
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Entriza: 4e40043

Mlzan: 5551.6223 4 203EE

Sid Dew: 2331 3882 +- 1.8815
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Run 4368 triggerwise, sums: Beam ON, Laser ON

III|III|III|III III|III|III|III|III|III|I
—1

11|

—— Helicity==0
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Endries: 1680542

Maan: SFTLBA2S +0 3TIET

5id Derw: S845. 0585 ++ 2 BAEE

Enirias: 1679324

Maan: 2TT.Y2085 4 A TIAT

Std Dew: £835.8822 +- 1.B3ET
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Run 4368 triggerwise, sums: Beam OFF

Entriza: 178

Mhzan: 21521364 4 B1.9210

Sid Derw: E21.4743 +

i= 43.7B4T

].HH.HH | e |

1
1000 2000

3000

4000

5000

6000

sum

Run 4368 triggerwise, sums: Beam ON, Laser OFF
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